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Figure 2. Split medical cost distribution

sure have to pay for individuals with a higher

risk profile.

To illustrate the functioning of a mixed

arket under a high-cost protection, assume

hat the medical cost distribution goes from

ealth state ] = (), which indicates healthi-
2 sires zero medical costs, to

he1r health care flnancmg up to
1. thiiva t?l'miﬁﬁié@ﬂ igst

divided in two parﬂ@? one private part

(j=0,1,...,m)and one high-costpartcove-
red by public insurance ( j = m+1,...,m).
Now we can define the following identity:

E(X/)=E(X)+E(X™). (1)

where i signifies an individual in the society,

(i=1,...,N).and
E(X/")= #lx’ @)

denotes the expected private health care costs
(the private part) and

E Xpub J
( ) z Jj=m+1 l (3)

denotes the expected public health care costs
(the public part).!? The public part (the high-
cost protection) is financed by a proportional
income tax ( z ) under the restriction that the
budget be balanced We can define the follo-

2 ip between compulsory insu-

per capita

; “)

where Yy, is the individual income without
insurance, 7 denotes the proportional income
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